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Finding volume by cylindrical shells: — D T
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Horizontal Axis of Revolution: 4,65\%&)/
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Example 1: Find the volume of the solid formed by rotating the region bounded by y =4x,
y=0,and x=1 around the y-axis. %\qu . ’\an ca w_\wl’_‘\l J
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Example 2: Find the volume of the solid formed by rotati

g vion bounded by y =x and

= i = i i \:\ \f\P\-\'¥
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Example 3: Find the volume of the solid formed by revolving the region bounded by the
graphs of y=x>+1, y=0, x=0, and x=1 about the y-axis. J
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7.3.3

Example 4:

Use the shell method to find the volume of a rlght circular cone of height 4 and
radius#
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Example 5: Find the volume of the §olid formed by revolving the region bounded by the
graphs of y=4x—x>, y=8x—2x" about the line x=-2.
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